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Warning: col ['FR'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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P3

BfiE) | EBATK (FD) | EHRE (EH/H) | BERERE (B/R) | XK ERE

06:55 333 150.0 0.593 5|  FHHA@06:55 KENFZEF (RAIEENEE)
07:40 333 150.0 0.593 F  FHAC07:40 KEIEFE CGRAFESE)
08:55 333 150.0 0.593 F(  FiHAe08:55 KREFEF (GRAERE)
09:50 333 150.0 0.593 5| FHHA@09:50 KENFZEF (RAIERENEE)
10:35 333 150.0 0.593 F  FHAe10:35 KEIEFE CGRAFEESE)
11:20 333 150.0 0.593 =l FHEA@11:20 KRENFZEF CGRAMEEEE)
12:00 333 150.0 0.593 s FHEA@12:00 KEFEF (RAHEEEE)
12:40 333 150.0 0.593 F  FHAe12:40 KEIEFE CGRAMFESE)
13:20 333 150.0 0.593 F(  FiHRe13:20 KREFEF CGRAERESE)
14:00 333 150.0 0.593 | FHAe14:00 KEEF (KAMEESE)
14:45 333 150.0 0.593 5| FEAe14:45 KEIEFE CGRAMFESE)
15:30 333 150.0 0.593 & FiH#fe15:30 KFIEF CGREAERKSE)
16:25 333 150.0 0.593 5| THRe16:25 KEIEF CGRAEES)
23t 4329.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.5

#HERECE (2257.0 vs 4055.0) 35
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P3

BflE) | GEBRAK () | ERE(EA/K) | EREE B/ R [ XS ERE

06:35 333 150. 0 0.593 =l {Ri%e06:35 B (RAERSE)
07:10 333 150.0 0.593 =l RRi8007:10 B (REAEEE)
08:10 333 150.0 0.593 = RRiB008:10 Bah (RAEEE)
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14:15 333 150.0 0.593 =l Rige14:15 Bz (REAEREE)
14:45 333 150.0 0.593 =l RiBe14:45 Bz (REAEEREE)
15:25 333 150.0 0.593 =l {Rige15:25 B3 (REAERSE)
16:00 333 150.0 0.593 =l RRiB016:00 B3 (REAEEE)
16:50 333 150.0 0.593 =l RRiB016:50 Bz (REAEEE)
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#[ERECE (2260.0 vs

4050. 0) id 5




T e g g S S B B g

100 - 733
50 A

208?

FRV (ml plant-1)

1.0
0.8
0.6
0.4

0.2
2800
2200
2100
2000

1900

7.0

6.5

6.0

300

200

100

ET (ml/hr/plant)

200

100

ET (ml/hr/plant)

0
300

200

100

ET (ml/hr/plant)

1.0

0.8

0.6

0.4

0.2

0.0

1500

1000

500

25

20

15

10

80

60

40

2.0

1.5

1.0

100 -

a1
o
!

P3_0, Day=59 (2025-06-03)

2¥4s VERIRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2339

Warning: lcol [FVI',| "FVO’'] missing

maxM |

—_
©
~

[ee]

E-N
—
T

N

o

o

o

- 1000

FRV —— ME #30.0

150 pmm——mmprm 44+t r 4+t T+ r L 27.5

-22.5

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0 —%—  ECB*10%
4 { ECC

F————f oS 8 e a0 o8 o o 8 @ N loooooioooooo

20.0

optPHO=6.5, setPHB=6.5 —¢—  PHB*10%
o PHC

]
{ Bylnit ®D60 02:04: ET=1828 Fg=2400.0 Ro=640.0
I

7
- 3000
- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i 5 5 i i 5 5 i i 5 5 A B 5 G A B 5 G A B 5 G A

- 3000

ByEt @D59 19:03: ET=1895 Fg=2250.0 Ro=nan

L

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i 5 5 i H 5 H i H 5 5 A B 5 G i B 5 G A B 5 G A

- 3000

I
ByWoFyv I@DGO 02:04: ET=1841 Fg=2400.0 Ro=593.0

' I

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
1 B H H i H H H i H 5 B G B H 5 G i B 8 5 B C] G 5

—_—
(] | _obs
—@— PPFD obs

T obs
To_obs

J‘llllllllll|'ll|||'..

1T @ RH_obs
(] RHo_obs

.(

hour

FRV (ml d-1)

L 25.0 =

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



22.6

22.5 -

22. 4 -

22. 3 A

22.2 A

22.1 4

22.0

22. 3 A

22.2 A

22.1 4

22.0 -

21.

21.

22. 3

22.2 A

22.1 4

22.0 -

21.

21.

21.

m=570,m FV0=0

m=7595,m FV0=0

m=940,m FV0=0

22.

21.

21.

21.

22.

22.

22.

22.

22.

22.

21.

22.

22.

22.

22.

21.

21.

21.

22.

22.

22.

22.

22.

22.

21.

m=410, FV0=0

T T
410 415 420

m=615,m FV0=0

1T —e— MmE

%

T T
615 620 625

m=800,n FV0=0
—o— ME
860 865 8%0
m=970,n FV0=0

1T —e— ME

%
s
i

970 975 980

22.

22.

22.

22.

22.

21.

21.

22.

22.

22.

22,

22.

22.

21.

22,

22.

21.

21.

22.

22.

22.

22.

22.

22.

22.

m=465, FV0=0

T T
465 470 475

m=660,m FV0=0

T T
660 665 670

m=859,m FV0=0

1T —e— MmE

i

855 860 865

m=1000m FVO=0

-o— M_E

1000 1005 1010

22.

22.

22.

22.

22.

22.

21.

22.

22.

22.

22.

21.

21.

21.

22.

22.

22.

21.

21.

21.

21.

23.

22.

22.

22.

22.

22.

22.

m=525, FV0=0

525 550 5é5
m=715,n FV0=0

715 750 7é5
m=895,n FV0=0

895 960 965
m=1030m FV0=0

1T —e— ME

1030 1035 1040




24.

24.

24,

24.

24,

24.

24.

24.

24.

24,

24.

24.

T T
400 600

m=570,m FV0=0
—— MW
8 -
6 .
4 -
2 -
570 575 580
m=755,m FV0=0
87 —o— MW
6 -
4 -
2 .
755 760 765
m=940,m FV0=0
—— MW
8 .
6 -
4 -
2 -
940 945 950

24.

24,

24.

23.

24.

24.

24,

24.

24,

24.

24.

24,

24.

24,

24.

25.

25.

24.

24.

m=410, FV0=0

47 e MW
2_
0_
8_
450 4%5 450
m=615,m FV0=0
—— MW
8_
6_
4_
2_
615 620 625
m=800,m FV0=0
1 —e— MW
6_
5_
4_
3_
2_
1_
800 805 810
m=970,m FV0=0
27 —o— MW
0_
8_
6_

970 975 980

24.

24.

24.

24.

24.

24.

24.

24.

24.

24,

24.

24.

24.

24.

24.

25.

25.

25.

25.

25.

24.

24.

m=465, FV0=0
"1 —e— mw
6 -
5 -
4 -
3 -
2 -
1 -
465 470 475
m=660,m FV0=0
—— MW
8 -
6 -
4 -
2 -
660 665 670
m=855,m FV0=0

—o— MW

o N > (=2}
I I I I

855 860 8é5
m=1000m FV0=0

-— MW

co © o - N w >
I I I I I I I

1005 1010

24.

24,

24

24.

24.

24.

24,

24.

24.

24,

24

24,

24

24.

24.

25.

25.

25.

25.

25.

25.

25.

m=525, FV0=0

525 550 5é5
m=715,n FV0=0

715 750 7é5
m=895,n FV0=0

895 960 965
m=1030m FV0=0

- MW

1030 1035 1040



hour

T

7R

L e

N
“%

o
-

%

5

]

§_

%

100

80

- 60

- 40



P3

BflE) | GEBRAK () | ERE(EA/K) | EREE B/ R [ XS SRR

06:45 333 150.0 0.593 [Z=| 1BRige06:45 Bzh (REERSE)
07:25 333 150.0 0.593 = RiB&e07:25 B (REAEESE)
08:25 333 150.0 0.593 5| 1Ri&e08:25 Hz (KRFEES)
09:10 333 150.0 0.593 E| {Ri1g@09:10 Bz (RE{ERSE)
09:50 333 150.0 0.593 = RRi%09:50 BHzh (RAEESE)
10:25 333 150.0 0.593 & Ri8@10:25 Bnh (GREAERESE)
11:15 333 150.0 0.593 5 {Rige11:15 Bz (GRAERSE)
12:05 333 150.0 0.593 =l 1Rige12:05 B3 (RAERSE)
12:50 333 150.0 0.593 | Rige12:50 Bz (REAERESE)
13:20 333 150.0 0.593 |Z=| 1Ri%e13:20 Bz (GREEZERSE)
13:55 333 150.0 0.593 |Z=| 1Ri&e13:55 Bzl (REERSE)
14:25 333 150.0 0.593 | =| 1Ri%e14:25 B3 (REEZEBE)
14:55 333 150.0 0.593 |Z=| 1Ri%e14:55 Bz (GREERE)
15:30 333 150.0 0.593 [ =| 1BiBe15:30 Bzh (REEREE)
16:10 333 150.0 0.593 | =| 1Ri%e16:10 Bz (REAZERSE)
17:05 333 150.0 0.593 |Z=| 1Ri%e17:05 Bz (GGREERE)
21t] 5328.0 (16%) 2400. 0 EIGHKEC: 2080.0, PH: 6.5

#HERECE (2215.0 vs 4003.0) i d 5
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P3

BfiE) | GEBIATIE (7)) | EME (BEFH/f) | ERERE (B/R) | XS ERF

09:10 333 150.0 0.593 |&Z=| 1Ri%e09:10 Bz (REEZEBE)
10:10 333 150.0 0.593 [ =| Bige10:10 Bzh (REEREE)
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13:10 333 150.0 0.593 FA| {Ri%@13:10 Bz CGRAEESE)
14:45 333 150.0 0.593 FE| {Ri&@14:45 Bz CGRAEREE)
2411 1998.0 (6:%) 900.0 32 KEC: 2080.0, PH: 6.5

#H[ERECE (2168.0 vs 3885.0) 15
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P3

BTiE) | GEBIATK (F) | EME (EH/) | BEBRERE (/X)) | XK EFRF

06:20 333 150. 0 0.593 FA| 1B2i%@06:20 B3h (kAR
07:20 333 150.0 0.593 FA| 1BRi%@07:20 B3zh (RABIEREEE)
08:20 333 150.0 0.593 FA| {Ri%@08:20 Bz (RAEEE)
09:30 333 150.0 0.593 FA| 1E2i%@09:30 B3zh (kAIEREE)
10:40 333 150.0 0.593 FA| 1B2i%@10:40 B3zh (RABIERESE)
11:55 333 150.0 0.593 FA| 1Bi&@11:55 B3h (RAFEREE)
14:05 333 150.0 0.593 [/hfE| 1BRige14:05 Bzh (REERESE)
23t 2331.0 (7% 1050. 0 3 HKEC: 2080.0, PH: 6.5

#HERECE (2197.0 vs 3768.0) i d 5
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